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Reading Text

-

ARRRR = W3, ARRRRl= AUz
‘Disappearing Glaciers, Disappearing Islands’

T4 H S0 S=0M A0F 2 52 AL S,

Animals and people that have been living in the Arctic for thousands of years.
59| 49| 0| At2tR| 12 Q& LCY,

Their bases for living are disappearing.

AT 2LstE Z|H9| 27t O |HAM Wolot Md =0t QI0{A|LL 7| WS L|CE.
It is because the glaciers are melting away as the temperature of the earth rises
due to global warming.

EfE Q| 22 dLiet AtRt=E AHZO0| BEL o
People living in small islands in the Pacific ocean are greatly concerned too.
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Tuvalu’, a county located in the South Pacific ocean, was originally composed of
nine islands.

O 282 64 71ef MTHo] ot Qs LTt
However, only six islands remain now.

Uo7t 52 oll4HO| ZOEMA 212 A 3717t =01 &77| = L|Ct
Three small islands went underwater because the sea level rises due to the
melting glaciers.

o =7| 40| 2= AFE floll FH2 & 4+ YS7?
What can we do for the earth before it’s too late?

OfL|, 29S 3o} B7HR?
No, what SHOULD we do?
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of) 22 LofLty| flofl AHFS = Y1 UL

Notes

A2tR|= : AF2FR|(C}) (to disappear) + -= (ending(relative clause; noun modifying))
gitet s 4+ L2t

s d S - + d + S (while)

230|M : 2 + -0l A (marker; at/in)

AFOF 2 @ AK(TY) (to live) + -OF 2(CH) + - (ending(relative clause; noun modifying))
S22 S + -2f(marker; and)

AHHS AR+ S(plural)

a=2| : d& + -2 (marker; of)

&40l - &F + -2 (marker; of)

E{Z0| : E{ + -0|(subjective marker)



24 24
AtRFR| 2 USLICE - Art2| (B (to disappear) + -2 AU(CH + -gLIEH(modal aux.(to be -ing)
ending(declarative))

At 2LEt= | FA2HE + -=(marker; by/through)

A| 79| 1 A7 + -] (marker; of)

257t 2% + -7}(subjective marker)

FO0FZ|HA] : =0FX|(T}) (to rise) + -HAM (connective; as/while)

St7t : ’ISH + -7H(subjective marker)

=0t {22 7| EZYLICE : =0 QO Z|(Ch) (to melt away) + -2 AU(C}) (be -ing) + -7|
= (because of) +&L|CHending(declarative))

Ef O] : EfQF + -O|(marker; of)

ZHHO0| : A4Y + -0|(subjective marker)

Or&LICH: 8X(T}) (to be many/ a lot) + -&LCHending(declarative))

SEf IO U= - HEFEF + -0f (CH (to be in/at) + -=(ending(relative clause; noun
modifying))

Edr2ets | EY2 + -2t=(to be called/ named)

Lizts © L2t + -=(marker; exclusion)

ey

OF& 71| : Ok + 7H + -S| (marker; of)

HOZ O|R0|AH UJUSLICH: o +-22 0|F0{Z|(C}) (to be composed of) + -0 RU(C}) (AEH
A|%  pre-ending(past tense)) + - + -SL|CHending(declarative))

= R|Bt:

AZF2 : A Z + -2(marker; comparison)

oA 7He| : A + 7 + -S| (marker; of)

ARl : M + -2H(marker; just/only) + -0l (subjective marker)

SOF ASUC: (T (to remain) + -OF UA(CH + -SLCHYEN A& ending(declarative))
SO HM : (0} (to melt) + -2HHAM(connective; as/while)

Si4=HO0| : 342 + -0 (subjective marker)

E0tA M: =O0FZ|(CH (to rise) + -OjM(connective; because)

20 27| th2YUCt: =01 &7|(T}) (to sink/to go underwater) + -%U(pre-ending(past)) +
-7| W2 (because of) + - L|Ct(ending(to be; declarative))

=

=7| Ao : =(¢) + -7| A0f|(before)

22|& : 22| + -=(marker; exclusion)

AFE sl : A7t + -& 28l (idiom (for))

B2ag : 29 + -Z(objective marker)

of £ QUS7tR7? 1 5HEE (to do) +-2 &= A(EhH(modal aux.(can)) + -27t2? (ending(for
guessing; interrogative))

OfL|

SHOF &77t27? : SHC}) (to do) + -OFOF HTH) (modal aux.(must)) + -27t2?(ending(for
guessing; interrogative))



Comprehension Check-up

1.0| 22 =2 200| Chal 0|0k |5t Q& L|7p?

=2 T
1) At 2t e 2) 2|+ 2ol o 3) A7 2Hete HEYY  [§ 1]

S=0IA AFR|A e A2 FAYLITE?
[

1) AE 2) M 3)’st [H:3]
3. B 2et= L2t gt Aoz S8l 22 AL

1) HEHEAO| JUCEH 2) 22 dLi2tO|Ct. 3) 25 3712 o= O|20{A Tt [E: 3]
Conversation

4 )
o2l : 23 X7t IRt MEsiH2. ASH | 8 4 2ot
Eric : It’s really warm these days. It is winter but feels like spring.
0t &, GM7t HAE O|daliA|= A 20t O|A| Cf A2 Lka} W Z0[2l. L, SA| A+
SHE 27| AAl2tE A gop?
Sua : Right. The weather is getting more and more bizarre. This is all because of
global warming. Do you know about the planet’s environmental crisis clock?

ofl2] 1 ‘2[5 2bF 7] A|A? O Hoe?
Eric : The planet’s environmental crisis clock? What's that?

40t : StZO| HOtLf LEEA| Y] == A|AOF 124|0 EE 7 2+5 2HF0| L&
ZE S

Sua : It's a clock that tells us how damaged the environments are. It is said that the
nearer the clock is to 12 o’clock, the worse the environments are.

ozl : J2ie2? O 0|72 A2 2 Alo2?
Eric : | see. What time is U.S.A. now?

20 : 0|32 10A| 13&2. 2] ot=2 94| 31202}, 2G| 1 A|A7t E& Wepx|
UC 3.

Sua : America is 10:13. And Korea is 9:31. But people say that the clock is going
faster.

ozl:&, 1A 2dojHL
Eric: Hmm, that’s serious.
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Notes

o=
Ry

SR ZF D YM] + -TH(subjective marker)
2R
CHEE5HH| R ¢ WHEESHE (to be warm) + -U|2 (ending(exclamatory))
HEQlH| : A +-0|(C}) (to be) + -L Hi(connective; but)
2 N Z0t2 1 82 M| + ZTt (to be like) + -0t2 (ending(declarative))
SR ZF D YM] + -TH(subjective marker)
3
O| A5l 2= Zd 20t : O|ASHZ|(CH) (to get more bizarre) + -= Z ZH(CH (modal aux.(for
guessing)) + -Oft(ending(plain style; declarative))

O|A| : contracted form of O|Z40|(0|Z + -O|(subjective marker))
Ct

Ik

2|3 2Ltst ij20|2f : 2|3 2ute} + 2 (because of) + -0|2(contracted form of -0|2t11

(quotative(declarative)))

=4

A7 E2E A A2t A |7 2 E AlA + -2t=(to be called/named) + A(thing)
0r? : 2H(CH + -OF?(ending(plain style; interrogative))

A : contracted form of 1Z40|(1Zd + -O|(subjective marker))

2027 : & +-027? (ending(to be; interrogative))

StZ0| : &t E + Ol(subjec‘uve marker)

AOLt LEZ| - HOFL; + LIEY(CH) (to be bad) + -1 2| (connective; if, whether)

olg{ =g=. oloy —.—( b (to tell) + -=(ending(relative clause; noun modifying))

AAHIOF : AlA| + -Of(ending(to be; plain style; declarative))

of



12A[04 - 12A] + -Of|(marker; at)

I ALZ  712H(C (to be near(ZI7H2 (2 irregular))) + -0 2| (E}) + -2 2 (the more----
L2 Helf : LIBE(CH (to be bad) + -t H+ -2l(contracted form of -2t12 3Hi(quotative
(declarative)))

0|= : 0= + -2(marker; comparison)

Az

2 Al0|2? : what time is it? 2 (what) + A[(time) + -0|2?(ending(to be; interrogative))
10Al 138

Jde2|n

St=22 : 5t= + -2(marker; comparison)

9A| 3120]2f : 9A| 31& + -0|2{(contracted form of -0|2t12 df(quotative(declarative))
g

O AAIZE: O + AlA| + -7Hsubjective marker)

etz 0 QUCED off - W= (CH (to be fast(®z2t-(Z irregular))) + -OtA|(CH (to become) + -11

(ChH(to be -ing) + -Ct2 s (quotative(declarative))
A
20|42 : 2 (big trouble) + -0|(ChH(to be) + -HIL (ending(exclamatory))

Comprehension

1. EM7t Ol st A2 AF2 st WEOIC (T/F)
ST

2. A5 D= £L} et=9f FO0| & Lt (T/F)
.F
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Exercise
1. 28 Y ( ). AS2QH| 8 4] Zot
Nade 2) O%stde 3)=0lue [E:2]
2. M7t MY EOtate ( )2 0150|012,
1) Htgf 2)Hd  3)AFE  [E:3]
3. ( ) YE0| T} S0f| Azt
1) HIZt 20l kA 2) 1R $—HA1 3) U2 AlRsiA [ 1]
4. 212 8t AYUCH AER 308 & §F Al ( )oll A|2tat & LICE,
1) 82 2) A2t 3) gk [Ehe 3]



" Explanations
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YA+ZL ZLy= 2ol 22 S22 80| Jts o0 H 22 FARSH A
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" Exercise
1. At st =2 BM 55 5=50| AtA[2 2.
B:
1) A & Hue.
2) O 2 2ojHl2.
3) A ¥ ZHL. (B 2]

2. ATkl W, THU M7t o2hS Y ABHHRIM 22
B:
1) H, Tl Ml k4 2ot
2) U, THL| M= Mady Zote.
3) U, iU M 21T Zot. 1]




1) J2jA| HfE Z0t2
2) M HEE 2US 2AI6H0F s 2.
3) J2HA] HFEEZ|OF ZF Ao [E:2]

4. A:BHLOIZ B9 BT om? 21727

1) Ot2, B2 HE42 oL
2) U, 41242 Bo| el
3) U, of2{N 2ojole. [ 1)

Reading & Writing
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YLt 32 LY

AT 2HstE 25 22| W YLICH L7t 227t das 2T B H EL o
HA OO 0AHAHS =25 ALESHOF BILICE
2|1 AS2FE ERA| Y10 A|SHHO|LE A S EfOF BiLICY.
O[7 ot= A0l BotEs5 X|9| g2 F0H AY



